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Paper : 3.2

Full Marks : 80

Time : 3 hours

. The figures in the margin indicatefull marks
for the questions
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{)

£f*rc^m ^ ; ixio=io

(•^) a? ^ ?

(91) 'HT Co^rar

•®fpm ^ "srrf^?
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(ts) ?

(•^) W^ f?%t ?

(X) 'M '̂ql^i'Slva Ji\ai>oisji\ ?

(^) CT'S'JK ^

1

^ C^PT'R?

^ I . 4^X4=^0

(^) ^iTs^ f% ^4»iif^oi ^sn^ ^ j% ,

(X) "PfRf^ ^ 21^^51^ Wf 1WT

(^) .?ii^ ^
%5^ xn^ ^ %sc^ f%

w?

(^) ^ 3? f% f% ?
(«) ^ 1^ ^

^ ^ C^^Klfl ^ ^RsiJW
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ot ^ blRiil : 4x8=-^o

(^) c^sm
^ I

(^) c^ TO ^iwi' ^ cmm

{%) •535T¥' %# i|ic«rc^ ftf^^
1%^ ^ cs\m «1TO

i?if® # I

(^) 1^ c^CT ^ t#iti #%k Wi I

{<§>) '̂ #^-'5:^«t' wr® bR^diJi
t>^C<P ^ic=iimI I

("6) "sn^rW 'sf^
%K ^ I

(•^) ^ I

8 I (^) " ft^-C^' Ca% ^3^%! i"
•*i^ic=iii><p'̂ "#51^^ ^iR.Fijs'
1^(7T^ -illdoiibr^l I io

('{j) '̂ 'SrlRal ^•'INIR' vjiC^d^ ^TR
•SJRJ^ 2JW ^Id^iiWl ^ I
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(i I (?|5) 1% ? C5RH

ca^-R'oi'SfH
^lC<=11t?*Hl I ^+^+(^=^0

(^) ^Sfl^ ^^lJlR|<ti \3|^
aR)(^vo i"

^ I *55^ ^ C^lCTf ^ SRR <I'R<11 :

i%^ c^Ri<p aRj-oK •^fi'sp^

I bo

('f) ^STftgi c^ w
t«lR.oi, ^ICoilMI I bo

('T) 'itR^ ^n' ^ ^ f%? =11^
^"WWo 1%^ M'srsf C^,

I bo
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( 5 )

bl : ix>o=io

(^) •<?R^!-'̂ ?

(^) "51]^ -qva '̂ C^R (21%^ <?Rv»)j ?

(^) CWfWH a«R ^ C<MH(;i5l ?

(^) t%5jH ^
ai\Rei ?

("5) cw ?

(^ 05^ >iiR.^i^ a(R ?

(^) C^H^ <pR^l^ \5Tf^
•^]%5R STSW ^sn^?

(^) csm 2m cam?
^ 1%^ I

(^) (RRHT ^fRwGT^
c^Frd^ ^#5R5 ?[^?
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( 6 )

5.1 c?^^<p <pR^I : 5.x<l=i.o

(^) '%5l' ^ 1% ^ C^s-G^ ^
?

("T) "STTclSt' -f^
054 c^ "^snfl^ ?

(-St) 12BP5^ M*t CW ^ (RRTf^
^ I

/#i) 'm ^ ^

'C^' ^ C5H^ ^ 1^^ ^ ^

oi 1^ (?Pi(7n GPiPi : (?x8=5.o

(^) RFR i^^^fFSSR C^SRR

(=?() am ^ aw am 'cm' ^

^ M I

(9^) ^qi^' WTcam
^1% ^cnr^rrcRi ^ i

(•^) '^M^' <pRv5['q iilsfvi '«l<ili*f^ ^
?#f^ Wt (Ml m, ^ '
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(is) c^mh

^mi(:^?if« m \

-(^) >tRf3S ^rm
iJIC^C*^ <l>|g<Plei<q i% 1^^,

fem=T 1

(^) cwrw^ ^5t?wt^ fe
i^TCq v5]i%^J^ C^C^, t^ffT I

8 I (^) Hicerci ^
^WTBR Ri'TC'̂ ^frf®

(^) "^^fji' si^icBh C£R^ fe
^ ^Id^llHI ^ I

<t I (^) '̂ Tf^RTSJ*

(^) ^rrf©
'6J1C<=11M1 ^ I

^ I (^) ^3 '̂ "^#51^ ^«!TTf^ csm %s
Ritf^ RQ]\5 Rbl'̂

I io
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^i"&i^j <pR^i'q sr^ (.-T^cwi

<pR^ic"i?i^ £1C^1''H Rc>m '^Nt I

«l I (^) '̂ «»©V£IH^5 v5T^

1% ^ %^,
^li=1IHi ^ I io

wtW

('̂ f) *vav©\5pl'̂ 2R^ C5RR
«i*iic*^ "fif^ Mr I

★ ★ ★
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